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Long Division Practice Activity
Use the squares to ensure your calculations are set out correctly.

Example
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      241 ÷ 17 =       965 ÷ 31 =1 2
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      1415 ÷ 12 =

      1946 ÷ 31 =

      6527 ÷ 31 =

      4465 ÷ 19 =

      1371 ÷ 40 =

      4895 ÷ 46 =
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      8572 ÷ 39 =

      9758 ÷ 48 =

      9109 ÷ 50 =

       15 245 ÷ 62 =

9 10

11 12
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Long Division Practice Answers
1. 14 r3

2. 31 r4

3. 117 r11

4. 235

5. 62 r24

6. 34 r11

7. 210 r17

8. 106 r19

9. 219 r31

10. 182 r9

11. 203 r14

12. 245 r55


